[bookmark: 1][bookmark: _GoBack]














STANDARD SEVEN


ENGLISH

TIME:1  HOUR  40  MIN

Read the two passages below. they contain blank spaces numbered 1-15. For each blank space, choose
the best answer from the choices given.
Shoes sizes ___1__ probably __2___ complicated measurement system ever ___3___ by man. They
don’t have a ___4____ relationship ___5___ units of measure in common use(centimetre and inches), they
___6____ different ___7___ in different countries and different ___8____ for women ___9___ men and children.


1. A. is	B.are	C. were	D. was
2.A. more	B.the best	C. most	D.the most
3.A. made	B. thought	C. invented	D.created
4.A true	B.valid	C. straight forwad	D clear
5. A. with	B. for	C. to	D.in
6. A. has	B. have	C. are	D.were
7. values	B.measurement	C. meaning	D.interpretations
8. A. size	B.value	C. guage	D.unit
9. A. ,	B. :	C. ;	D. .

Do you ___10 ____ extremely ___11___ at the end of every day ___12__ not having ___13__ yourself?
Does anyone control every ___14___ of your life? You seem to have inherent fear of virtually everybody you come
__15 __?

10. A. fill	B.feel	C. peel	D. pill
11. A. tied	B.happy	C. tired	D. bored
12. inspite	B. even	C. despite	D. when
13. trained	B. strained	C. rested	D. worked
14. A. respect	B. area	C. thing	D. aspect
15. A. after	B. for	C. across	D. in



For question 16 -18 choose the
alternative that means the same as the
expression that is underlined
16.	Harry and Alan had made up the story they
told the teacher on duty.
A. written	B. learnt
C. invented	D. discovered
17.	The government failed to throw its full
weight behind the project.
A. start	B. reject
C. cancel	D. support
18.	The little girl look like her mother very much.
A. loves	B. copies
C. resembles	D.likes
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Choose the expression that best
completes sentences 19 - 21
19.       It is a dull day today, isn’t it? _______.
A. yes.                         B. oh yes it is
C. oh no,no                  D. it isn’t
20.       Here is an interesting letter______.
A. to read for you.
B. you to read for
C. for you to read
D. you to read
21.       A job which is badly ______ is often badly
ended.
A. begun                      B. begins
C. began                      D. beginning
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Choose the correct word to complete
question 22-23
22.	My father _____ drinks tea _____ coffee.
A. neither, and
B. either, nor
C. both, and
D. neither, nor
23.	_______ James ______ his twin brother got
the lost pen
A. Neither,or
B. Neither, and
C. Either, or
D. Either, and





Choose the best arrangements for the
adjectives given to complete the
sentences correctly.
24.       The _________ old man is proffessional
doctor.
A. short brown handsome looking
B. short handsome looking brown
C. brown handsome looking short
D. handsome looking short brown
25.       Janet doesn’t like her__________ dress
A. new red cotton
B. red new cotton
C.cotton red new

D. new cotton red
Read the story below and answer the questions that follows.
All those working on that side of the Duty Office were rejects from other sections. They were quite an odd
combination because each of them had been taken there as part of punishment. They had been taken there as rejected
by the artisan from the section they belonged to for some reason or had been caught with cigarettes.
Such people were really hated by the boss as he called them the masterminds of the illegal transactions in
inductions,yet another place for rejects from the workshops. They would not be taken anywhere else but infront of the
eyes of the boss, whose office was just a few yards from where the boys were kept, sorounded by a wire fence and
given lumps of stones to break into small pieces. Anyone caught with a big offence was brought to this area where the
boss knew and believed they would not get something to sell to warders as he looked on. But the learned boss was
wrong. This was the place where he had put all the contraband masterminds.They had managed to steal a clock and
other things that had remained a mystery to the store keeper until a member of the gang turned traitor and squealed.
The area just infront of where the stones were being broken, was where the prison industries store was
situated. It housed all types of tools used in carpentry,metal works,polishing, tailoring and upholstery sections. Whenver
any of the sections needed new tools in exchange for the old ones, they went there. In this sense,the strength of the
industries lay there, and just opposite the store was a bunch that believd that in cigarettes lay the only secret with which
to bear long stretches. Without cigarettes, you were not worth any recognition . Recognition was their main objectives,if
you
remember that a great majority of the lot were terrible homosexuals. Prisons life without women had made them so.
This store was built like any other store in the prison and they didn’t need to put much security , as it was within a
place where security was most intense. It had, in this case,no ceiling but a large gap from the top of the wall to the
roof.
With such professionals around, the authorities could not have made a bigger mistake. One day, the store
clerk noticed a jack plane worth ksh 800 missing. He concluded that he had made a mistake somewhere. Another day,
he missed two hammers and concluded that, since he had exchnaged a number of hammers of the same type, he had
given out two in excess. He promised himself never to make such a mistake in future.
On another day, he noticed more than half a dozen paint-brushes were missing. He had’t recently exchanged
any. He started suspecting those people who went to exchange things and decided that, they would in future stand at
the door while exchanging their tools and no one would enter the store.
But things kept on going missing. He almost fainted at the realisation that he had lost tools valued at over
Ksh 20,000
(From my life in Prison Kiriamiti pg 142-143)

26.	What does the words ‘All those boys...... were
rejects from other sections’ as used in the
passage suggests?
A. The boys could not fit in their previous
sections
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B. The boys had rejected to be in their
previous sections
C. The boys had been turned down by their
previous sections
D. All of the boys had rejected others in the
previous section
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27.	Which offence could have landed the boys to
this side of the office according to the first
paragraph?
A.Being an odd combination
B. Possession of cigarettes
C. Being rejected by the artisan
D. Stealing cigarettes
28.	Who were being referred to as the ‘master
minds’of the illegal transactions by the boss?
A. The wardens
B. Store keepers
C. The rejects
D. The duty officers
29.	What made the boss believed that anyone
brought to this area the boys were kept would
not get something to sell to wardens ?
A. He was there to looked on them
B. They were busy crashing stones.
C. They were sorrounded by wardens
D. They were surrounded by a wire mesh
30.	“But our learned boss was wrong.”Which
one of the following statements is a prove of
this statement ?
A. The rejected boys told the boss that he was
wrong
B. The contraband masterminds managed to
steal a clock after all
C. The theft of the clock had remained a
mystery
D. There was a traitor among them
31.	Which one of the following do you think must
have made it easier to steal from the stores?
A. The store had all types of tools
B. The store keeper was careless
C. The stores did not have strong doors
D. The stores were situated just opposite where
they were
32.	According to the passage, prison life without
women had not made the prisoners all of the
following except one. Which one is it?





C. Preachers                D. Homosexuals
33.       What made the builders of the prison store not
find the need to put much security to the store?
A. It was put up in a place where security was
tight
B. It was on the opposite side of the Duty Office.
C. It was next to guard office
D. It was inside the prison
34.       It is true to say that the writer of this story was
A. a journalist
B. a prison warden
C. a prisoner
D. the storekeeper
35.       “With such proffessionals around, the authorities
could not have made a bigger mistake “ which
mistake is being referred here?
A. Putting no security guards
B. Leaving a large gap from the top of the wall
to the roof
C. Putting putting such proffesionals in one
place.
D. Building the store like any other without
doors
36.       Which one of the foollowing shows the correct
order in which equipments were stolen from the
store according to the last two paragraphs?
A. Jack plane, two hammers, more than half
dozen paint brushes
B. Two hammers, two jack planes, 1/2 paint
brush
C. Jack plane, 1/2 dozen paint-brushes, 2
hammers
D. 1/2 dozen paint-brushes, 2 hammers, 2 jack
planes
37.       When did the store keeper find out that tools
were being stolen from the store?
A. When the traitor squealed
B.  When the thieves were arrested
C. When 1/2 a dozen pain brush was stolen
D. After locking himself inside the store to count

A. Thieves	B. Masterminds
Read the passages below then answer the questions 38 - 50
Hammerhead sharks (sphyma) are among the millions of spieces that inhabit the seas. They are also among the
largest creatures in the sea, others being the dolpins and the whales. Hammerhead sharks also called sphyma which
belong to the same family as the whale, get their names from the unusual shape of their heads .
A hammerhead shark is distinct from other large fishes in that it uses its wide head to find and trap sting rays by
pinning them to the floor of the sea. They also eat bony fishes, lobsters and crabs that shares the same environment with
the oysters and jelly fish.
The hammerhead sharks eyes are placed on each end of his head, which allows it to search more area for food
quickly than any other shark . It also has highly specialized sensory organs which pick up electricity
signs of hiding living sea creatures.Its teeth are like the edge of a saw, while its mouth is on the underside of its head.
The great hammerhead is the largest of the nine species of this shark. It can grow upto 6 metres in length and
weight upto 450kg.
3.
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Unlike many fish, they do not lay eggs. Females give birth to live young called pups which are born with more
rounded heads. One litter can be six to 50 pups.
These sharks are found in most warm oceans waters throughout the world and are considered harmless to
humans.
However, the great hammerhead enormous size and fierceness make it potentially dangerous.
Hammerhead are among the few creatures that can get a tan from exposure to sunlight, a feature shared by pigs and
humans. Tanning occurs when a hammerhead stays in shallow waters or close to the surface for a long time.



38.	Hammerhead derives their names from
A. their colour
B. their way of catching their prey.
C. The unusual shape of their head.
D. The way they move their head in water.
39.	Which  two creatures mentioned in th passage
are eaten by hammmerheads?
A. Lobsters and bony fish
B. Sting rays and jelly fish
C. Oysters and jelly fish
D. Bony fishes and Oysters
40.	Which one of the follwing words is nearest in
meaning to the word distinct as used in the
passage?
A. Strange	B. Similar
C. Separate	D. Different
41.	The main advantage that hammerhead sharks
gets from the positioning of their eyes is that
A. They are able to locate their enemies
from far.
B. they help them swim faster than other sharks.
C. They are able to search more areas for food
quickly than other sharks.
D. they can locate hiding living creatures
42.	The following are true about hammerheads
sharks. Which one is not?
A.They trap and eat sting rays as they swim
B. They have highly specialised sensory organs.
C. Their teeth are like the edge of the saw.
D. Their mouth are on the underside of the
heads.
43.	How many species of Hammerhead sharks are
mentioned?.
A. three	B. five
C. seven	D. nine
44.	Which one of the following statements about
the size of hammerheads sharks is true?
A. They grow to not more than 6 metres
B. Most of them weigh 450 kg
C. They normally give birth to litter of 50 pups
D. They are the largest of the sharks
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45.       How are the hammerhead shark different
from many other fish spieces?
A. Thet are found in most warm oceans
B. They the the largest of the fish spieces
C. They are harmless to man
D. They give birth to pups
46.       “Potentially dangerous” as used in the
passage means
A. Very dangerous
B. Possibly very dangerous
C. Likely to be very dangerous
D. Not dagerous unless provoked.
47.       The hammerheads are considered potentially
dangerous mainly because
A. They can be found on shallow waters
close to the surface
B. they have teeth that look like edge of a
saw
C. They are the largest of the nine spieces
D. They have a large body
48.       Hammerheads, according to the passage, are
considered to be ______ to human.
A.dangerous
B. harmful
C. safe
D. friendly
49 .      The main reason why hammerheads get a
skin tan is
A. floating in the surface.
B. exposure to sunlight.
C. swimming in swallow water.
D. swimmming in deep water.
50.       The best title for the passage would be
A. Hammerhead spieces
B. Facts about humerhead sharks
C. How hammerhead sharks got their name
D.What hammerheads fish share with humans
